p"Lm

Unit Test |

-

)

2)
9)

4)

5)
0)

7)
0

)

10)

")
12)
19)
1)
15)

16)
17)
1)

(29)(2-3)(23) -
pOH-BN3 _ 50 _

X9 +X3 _x9-3 _x6

(403)% - 42032 - 16Q°

8 38 8A _3B-8A

RS . 3B BA _
4A 4B~ 4AB T 4AB~ 4AB

E+n°=1+1=2

2Y Y 2Y(X-Y)

Y{X+Y)

XiY XY XY (X=Y) XY (X+Y)

BXY=2Y2 +XY+Y2 -y243xY
x2_Y2 e XZ_YZ

aROTR2 4 5RAT 2T -
AT sRAT-2T-
ortT-21
(66x10°)(3.4x102)=
(65.6x3.4)(10°) =
19.04x10°° =1.904x107*

- e

(4.65x10‘)(2.1x1o7) =4.5x2.1x10% x107

«0.665x10"
(3.2x10‘)+(1.6x10'4)=2x108

(2810 *)(1.6x10%) + (2.0x107%) =
1.84x10"

(45)(5v3) = 20V 15

5v6 + 26 = 7V6

° “+ 1 =§E+E—
-2 -3
3(642)+2(3 _18Y2+243 _
6 6
92+ 3
3

Ja6x* - 6x2

B4
Wi6 =i -2

19)
20)
21)

22)

23)

24)

25)

26)

27)
28)

29)

30)

31)

32)

33)
34)
35)

g B B

(X +5)(3X + 2)
3(x2 —3x +2) = 3(X- D (X-2)

(x4 - 1)=(x2 +9(x2 -1) =
(X2 )X +DX-1
2X2 $3X—2= (2X- DX +2)
XE - AON 18X

X2 _9X +18=0
(X-3)(X-6)=0

X=3 X=6

2X2 42X +14 = 32 42X
2x%_18=0

XS -d_0
X4+3)X-3)=0

X =+3

2X + 15 = X2
0=X%_2X-15
X+3)X-5)=0
X=-3; X=5

X3 = 16X

x3_-16x=0
x(x2-16)=0
(X)(X+4)(X-4)=0
X=0, 4, -4

V=144 = V144 =12
V-8 +{-4=J-2/a+{1Ja=
22 + 2i

(4v=5)(2v=6) =
4iV5 .26 = -8J30
(8) =18 = ivivichii= 1t —1= -1

X _ 8-2i_ X(8-2i) _

8+2i 8-2i 64-(4)
8X-2Xi _4X-Xi

68 34

2 1-y2_2-2{2
1442 1-42  1-2
2_i5=-2+2JE
10X3Y2

4A3B

-5/2 D3

B . = =



Marna Marteeny



